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단 동작Tx 단 동작Rx
Schem. Layout Schem. Layout

IL [dB] 1.722 1.726 2.279 2.167
RL [dB] 22.681 22.636 23.132 27.417
IX [dB] 42.530 42.038 -

ref. Process
freq.
[GHz]

IL
[dB]

RL
[dB]

IX [dB]
P1dB 

[dBm]
Size

[mm2]

[1]
InGaAs
mHEMT

50-75 1-1.6 >10.8 31.6-32.8 22 1.5
75-110 1 1.6– >12 28.5 31.4– 19 0.94

[2]
130nm
BiCMOS

25-40 1.29 2.98– N/A 32.3 41.2– 15.4 0.11

[3] 0.18m 
CMOS

31-38 4.5 5.9– N/A 24.3 25.2– 25.6 
(@28 GHz)

0.39

[4] 0.1m
GaN HEMT

24-30 <1.5 N/A >28 >27 1.08

[16]
0.1m
GaAs 

pHEMT
55 - 105 <2.8 >7 8-26 N/A -

This 
work

0.1m
pHEMT

37-41 
(39*)

<2.6
(2.28) >10.5

(22.6)
>42 

(42.5)
30.5 0.8<1.9** 

(1.72)
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